NN SORAR
Fixed 111 2EE -2 F_RERE S”HSER B

BS5o H257)

a=1log2 b =log3 RBITNZIHHEEIETIARMR log,, 1087
a+3b 2a + 3b 2a + 3b 2a + 3b a+3b
(7 (2 3 C)) (5
a+b a+3b 2a+b a+b 2a + 3b

)2. BER Y =log,x DB > Aly = (a+ 1)x — 5 WBRER NIIMB—ERIR ?

mer o ; & 1, @ _741:_
A A N

. BRIRE y =log,(x+3) + 7 BIBHEF (6,5) ' Ka =
1 1
(1) 3 ()3 (3) > (4)2 (54
Ra~bRIEEY > Halogs,2+blogs,3=38Bla+b=
()15 ) 10 3) 12 )17 (5) 16

1
. K 4logs NG +log; 500 =

1
(13 (2)-3 33 (5)25

ZEE (G659 #3059 6-4-2-0)
)1 B (a,b) EHERE y = logx B2 L—F » BITFIHLZEIRPRIR hESHERENER L °
(1)(a?,2b) ()(10a,b+1) (3)(1,0) (4)(3a,3b) (5)(% 1-b)
)2. BRFELE T Ay = log%x WER @ I Ky =log; x B - HEDIETHENEIR -
(O BMELE @r, AUERN (3) I, BEFERE y BB
4T, BERERE x 8 75 (ST BT, R (1,0)
ga>1>b>0" BERTIAREFN - FHELIEHIIER -
M (a)’>CFa)® @b °>b"7 (3) logi > log% 4)log, 1 >1log,1 (5 logyb >log,a
- URB8TERLER?
(1 log% 5 (2) logg 6 (3) log, § @ log,5—-1 (5 log% %
- NIRGRAT B IERE <
(1) y = log x REHISIRIGHEN (2)y=logxBly = log%x BB EIRE LR x 8
)y =logx By =log(—x) HIBFHER v 8 (4 y = logx WEEHIR y = x KBIIRE R ¥ = (%)x
(5) £y = logx B LEEVERME 4 ~ B - BIER 4B IRIZRAIE

VIETSE (F457)

1. Et& 7987° +log 58 — logy 3 + log, 27 x logg 4 =




PONEEDE]  SOFRiREE

EX0 (10,logk )~ (2,log2) ~ (4,log6) =REHHR » Kk =

EESRITEGENEFERR 5% » IRTEMEF A 100000075 FERFSTE—R RBIE_ FH®-H
ARFF0ZEBA 3000000 T o (MIERAZTEHL) (log3 ~ 0.4771 » log1.05 ~ 0.0212)

HERB Y = logs x B LB A(9,a) “B(b,-2)  RIEIR ABBLRENR

ARER logi(x —1) >logs(2x +1) BUEER

B2 2logs x =1 +logs(6 —x) BB x =

MEAREF log,(log, x) < 1 VRIS




HONB¥ 133

b8yt

BTREEAgTOARSILEE (Wm?) RES - —KRAS BRNBER [ =107 (Wm?) - &
RISNESRER 1 (Wm?) i - PIEENES DR R d(1) = 101og (% o E—XEHATSEBEENR - RIS

BER 30 2R - RRESRLOHESEREINME - I : 2 XEEHSSEEFREMBLEHNESHEER | X
EATSBREEERE 215 XA VERKREMFENESHER | TRNERLESHE 3 & - RS
ETXEATSEER  IRRSER 1028 -3EHXET_ ZEANSHHEE-




PONEEDE]  SOFRiREE

HSE—RNERZE S "HER B




